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B. Com. (Pass Course) 2nd Semester
w.e.f. Academic Session 2014-15
Onwards (Current Scheme)
Examination — July, 2022

BUSINESS MATHEIBATICS - 1l
Paperi2.02
Time : Three Hours ] { Maximum Marks : 80

Before answering the ques—tfons, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.
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Note: Attempt five questions in all, selecting one
question from each Unit. Question No. 1 is
compulsory. All questions carry equal marks.
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(e) Find the compound interest on Rs. 400 for 2 years
at 10% per annum.
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(g) Find the fourth proportional to 3, 12 and 15.
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8 400 and fetches a profit

(h) A scooter is sold for Rs. 1 o x 816

of 15%. Find the cost price of the scooter.
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3. (a) Prove that: 8
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(b) Solve the following equation by Cramer's rule: 8
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4. Differentiate the following w.r.t. x : 4x4=16
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5. (a) Find the points of local maxima and local minima

(b)

(b)
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of the function f(x) = x* - 6x* + 9x + 15. 8

Also find the local maximum and local minimum
values.
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Find two positive numbers.whose sum is 16 and
the sum of whose cubes q&&f}mmmn 8
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Rahul deposited Rs. 20,000 in a bank for 2 years at
14% per annum compounded quarterly. Find the
interest that he will get at the time of maturity. 8
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The population of a town is 1,40,000. If it increases

by 5 % annually, what will be the population of
the town after 5 years. 8
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(b) A man borrowed Rs. 20,000 at 6% compound
interest, promising to repay Rs. 5,000 at the end to
each of the first 4 years to reduce the principal and
the interest and to pay the balance at the end of
the 5th year. Find the amount of his final
payment. 8
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9. (a) Shantahas some money with her. She gave 50% of
it to .D(‘J_-epak and 30% to Bhupendra. 60% of the
re.rnammg was donated to a school. If Rs. 8,040 are
still left with her, find the original amount of
money she had. 8
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(b) By selling a plot of lan @ Rs: 90,000 a person
loses 10%. At what pric(:z, ould the plot be sold so
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as to gain 15% ? ‘b§ 8
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